PROFESSIONAL EXAMINATION BOARD

Group-3 Technical Selection Test 2016
4th April 2016, 02:00 PM

Topic:- G3_General Knowledge
1)

Question Stimulus :-
General Knowledge

Who is the Home minister of Madhya Pradesh? / HEII'CI%QT Cal ﬂ?ﬂ?ﬁﬁﬂ%”
e Babu Lal Gaur / EITg’FH?ITﬁ'\'
« Jayant Malaiya / Sdd HadT
e Gopal Bhargava / MUTA UG
e Yashodhara Raje / YRR ISt
Correct Answer :-Babu Lal Gaur / 9194 GIGRIIES

2)
Question Stimulus :-
General Knowledge

From which city the T20 world cup India- Pakistan match was shifted due to security reasons

/ RET RN & AR ¢1R0(T20)f4Y FU & HR-UIfbwa A9 &f fFg g A iR fwar mar ur?
e Jammu / STH]



« Jaiselmer / SHAAR
 Dharmshala / e
e Mumbai / &35

Correct Answer :-Dharmshala / e Tar
3)
Question Stimulus :-

General Knowledge

Which %of the following is a Nobel Laureate from Madhya Pradesh? / 38 9 ®I9 Tl9d@ RPR faoidr aeA
o= ¥ B2

« Kailash Satyarthi / &arr gandf
« Anil Kakodkar / 3fd STHIsHY
e Amartya Sen / 3t 9

« CV Raman / di.d 304

Correct Answer :-Kailash Satyarthi / Farr gardf

4)
Question Stimulus :-
General Knowledge

The multi arts complex “"Bharat Bhawan” is situated at . / 98 ddl Ha" “"HRd Haq" g



Gwalior / IR}
Indore / sflv
Bhopal / HIU@
Ujjain / 3%

Correct Answer :-Bhopal / HIUT@

5)
Question Stimulus :-
General Knowledge

According to 2011 Census at which place Madhya Pradesh stands in Indian states? / 0% CARSEUE|
& IR YR TURTSH] § T USRT BT P T VI 8?2

e Second / ¢RI
e Sixth / Bodl
e Seventh / Iradi
e Eighth / 3T&di
Correct Answer :-Sixth / 94l

6)
Question Stimulus :-

General Knowledge



Who is the present governor of Madhya Pradesh? / Hed USK & IdH mﬁﬂ%?
e Mridula Sinha / gaT g1
e Kalyan Singh / F0 Rig
« Ram Naresh Yadav / IW R 41¢d
e Vajubhai Vala / a9[HTg arel
Correct Answer :-Ram Naresh Yadav / I X% 41¢d

7)
Question Stimulus :-
General Knowledge

Whic%h of the following temple is situated in Madhya Pradesh? / Fufafaa & ¥ «19 a1 wfer 7eg ez o
Ra g2

e Khajuraho / EETI?[

« Somnath / AHATY

o Shrinathji / STy

e Trimbakeshwar / W%R
Correct Answer :-Khajuraho / E?R‘I?f

8)

Question Stimulus :-



General Knowledge

The principle bench of Madhya Pradesh High court is situated at / 9 U I IATAY BT qqy
ArYe Ry € :

Indore / SER
Gwalior / W@TferER

Jabalpur / SIdelqR
Bhopal / MiUTd

Correct Answer :-Jabalpur / SdelqR

9)
Question Stimulus :-
General Knowledge

Which of the following cricketer do not belongs to Madhya Pradesh? / fRafef@d firde) # & &19 A
R ¥ Jafdd Tg) 82

e Narendra Hirwani / TﬁTs{%ﬁT-‘ﬂ
e Naman Ojha / "HA1 Gﬁgﬂ

« Ajinkya Rahane / 3ffSigqg 1810

« Amay Khurasiya / 3MFq IRIR[AT

Correct Answer :-Ajinkya Rahane / 3ifSi@ 18100



10)
Question Stimulus :-
General Knowledge

Which of the following is one of the highest sports award for Madhya Pradesh? / A SR T Jarsd
O R gifea # 9 o9 9182

e Kushal Award / A PRIPR
e Vikram Award / ﬁ%‘qw
e Jyoti Award / Sifd JRIPIR
e Surya Award / @WR
Correct Answer :-Vikram Award / fasa YRIPR

11)
Question Stimulus :-

General Knowledge

The %nly ISRO centre located in Madhya Pradesh is at . / THHHA ?ﬂ?}r(ISRO) &g S 7T USR A
Rua

e Indore / ?{cﬁ'\’

e Ratlam / IddM™

e Mandsaur / HaiR
« Bhopal / HIU@




Correct Answer :-Bhopal / T

12)
Question Stimulus :-
General Knowledge

Which of the following falls is situated in Madhya Pradesh? / fAuf=rd # & &9 91 UuTq Aeg U # UG

a2

Jog falls / ST Ut

Doodhsagar falls / gYdNR YUId

Kadambi falls / &eHIl UUTd

Dhuandhar falls / Y3[TYR U9Td

Correct Answer :-Dhuandhar falls / Y3/THR UUTd

13)
Question Stimulus :-

General Knowledge

%‘he “Kalidas Samaroh” is organized in Gwalior for . / BTy JURIE” &1 TS Wifeay | giar

e Literary presentation and drama / \‘I’I‘%‘@ﬁu’\‘ﬂﬁ T4 ATed

e Folk arts / AP Bl

e Classical dance / R &



e Modern arts / 3MYFF Har
Correct Answer :-Literary presentation and drama / CIHRED L'R‘g'ﬁf T4 AT
14)

Question Stimulus :-

General Knowledge

The river Kshipra joins theriver_______ ./ fEI'QT =rcﬂ_=rcﬁ A firadt %
e Narmada / T-I'FTET
e Chambal / 9§d@
e Tapti / arfa
e Son / =
Correct Answer :-Chambal / d9d

15)
Question Stimulus :-
General Knowledge

Which of the following is famous for Manganese mine in Madhya Pradesh? / AT & @l & fore g

wexr ¥ Frafafea 4 @ o a1 ulig 22
e Ghatshila / 9TcfREr
o Katni / Bl



« Pathakheda / 9IYTEST
e Balaghat / dTdTdIC
Correct Answer :-Balaghat / dTdTYIC

Topic:- G3_General Hindi
1)

Question Stimulus :-

Hindi

fafafea =gl & oM IR Wsg 3T Y §1 5974 | SR gumd® wafg gie- ufar
« 3T
e =R
« A1
« Ha®

Correct Answer :-3d%

2)

Question Stimulus :-

Hindi

AU WMeg BT Y fawdq ghm-
o YMH: + YUT



o IMH: + 3G+
e XMHAT + Y
e XMH + 3Yqd
Correct Answer :-3H + 394

3)

Question Stimulus :-

Hindi

3P W3l & forg T g o1 a9 Hifoe- ford fobdlt | ovrma =1 81

o AYT

Correct Answer :-fAfefed

4)

Question Stimulus :-

Hindi

“YIRd R f5a ymar o foram gam Uy 82
. @ A



o SISTHTHT
o ISTRYTHL
o 3radft
Correct Answer :-&g! didt
5)
Question Stimulus :-
Hindi
TR ve wreg faar man @ fRw v Ryt A vatgard =g gfie- urirg

Correct Answer :-Hgd

6)

Question Stimulus :-

Hindi

‘P’ Y B faeid gRTI-
o 3YH



Correct Answer :-GI-!
7)
Question Stimulus :-
Hindi
frafafad geray &1 9t faeed gH- SmHTr | a1d ST
o TEd AT BT
- 9gd a9 glsl
o JTHATT BT
o BT HIAT
Correct Answer :-§§d &dTl giHI
8)
Question Stimulus :-
Hindi
"|UST ST ¥ SHRT Md & Tafar 8-
o IHyTe fafRe



o gAEAT< Ud

o« RERTRR W

o XYTATENW Ut
Correct Answer :-XATHATA[W UTHG
9)
Question Stimulus :-
Hindi
fFrafafed & 3 s 99 T899 &-

o 9% faamg Hd I @

Correct Answer :-9g fQ@Tq o33 @

10)

Question Stimulus :-
Hindi

3 + 3= | Y gRfi-

o 33



o 3
o 33l
° 3{33[-_(-[
Correct Answer :-3I=d
11)
Question Stimulus :-
Hindi
‘RRTY’ req ¥ Wgad ST qaTSU-
e fa
o iR
* 3
« 39
Correct Answer :-ftR
12)
Question Stimulus :-
Hindi
frafafead o & 99 smerdf weg §; wit 2eg 39 Ao ¥ 7Y oma €, S ge- ATe
o T



Correct Answer :-Uldld

13)
Question Stimulus :-
Hindi

frafafea d o9 91 3 I 8-

Correct Answer :-Hfd®g

14)

Question Stimulus :-

Hindi

'fUdrer’ Wsg o1 99N faug ghm-
o dia 8 e e



« fid 3 T forget
o diar eraR & forae
- Suw At
Correct Answer :-SUWjad It
15)
Question Stimulus :-
Hindi
fFrafafed =gl ¥ g @ 9 9994 91d 9ol faeeu of ghg- ®

Correct Answer :-af¥g

Topic:- G3_General English
1)

Question Stimulus :-

English



Fill in the blank.

Ben Sam with a party.

e wondered

e surprised

o baffled

e attacked
Correct Answer :-surprised
2)
Question Stimulus :-
English
Fill in the blank.

When we reached the hall, the event
 has already started
e has started
 had already started

e was already started

Correct Answer :-had already started

3)




Question Stimulus :-
English
What is the antonym of: include
e Involve
e Exclude
e Contain
e Comprise
Correct Answer :-Exclude
4)
Question Stimulus :-
English
Fill in the blank.

He wasn't enough to lift the entire luggage.

e strong
e tall

e staunch
e livid

Correct Answer :-strong



5)

Question Stimulus :-
English

Fill in the blank.

He fell asleep while he

e reads

e was reading
e is reading
 has read

Correct Answer :-was reading

6)
Question Stimulus :-
English

Complete the idiom: We got the happy ending after all. It was a in disguise.

e curse
e blessing
e wish

e thought



Correct Answer :-blessing

7)

Question Stimulus :-
English

Fill in the blank.

Hewas _____ honest man.
e an
e a
e the
e no article
Correct Answer :-an
8)
Question Stimulus :-
English
What is the synonym of: bliss
e Joy
e Sorrow

e Pain



» Dejection
Correct Answer :-Joy
9)
Question Stimulus :-
English
What is the synonym of: change
* Fix
e Maintain
e Sustain
e Shift
Correct Answer :-Shift
10)
Question Stimulus :-
English
What is the antonym of: wild
e Furious
e Savage

e Gentle



e Violent

Correct Answer :-Gentle

11)

Question Stimulus :-

English

What does the given idiom mean:

“Having a blast”

Attacking someone

Enjoying yourself

Teasing someone

Getting attacked

Correct Answer :-Enjoying yourself
12)

Question Stimulus :-

English

Fill in the blank.

You should in yourself if you want to achieve something.

e Doubt



 Believe
e Think
e Slander
Correct Answer :-Believe
13)
Question Stimulus :-
English
What does the given idiom mean: “Feeling blue”
 Feeling sad
* Feeling angry
* Feeling annoyed
* Feeling thoughtful
Correct Answer :-Feeling sad
14)
Question Stimulus :-
English

The following sentence is split in three parts and each one is labelled (A), (B), and (C). Read the
sentence to find out whether there is an error in any part. Letter (D) signifies a ‘No error’.

She has lost (A) her wallet (B) yesterday. (C)



e (A) She has lost
e (B) her wallet
e (C) yesterday
e No error
Correct Answer :-(A) She has lost

Topic:- G3_General Maths
1)

Question Stimulus :-

Maths

Product of roots of the equation 2x2 - 11x + k = 0 is 6. What is the value of k(k-12)(k-13)(k-16)3

TR & TgaEl x2 - 02X + k = 0 BT TOAGH & g kk-12)(k-13)(k-16) 7 Yo FTd HY?
e 144 / 2¥Y¥
e 0.833 / 0.(33
e« 0/0
e 1/2
Correct Answer :-1 / %
2)

Question Stimulus :-

Maths



Two vectors a and b with magnitude 2 and 1 are such that a.b = V3. What is the angle between the

two vectors? / & Aae U R St uRAT0T & J1Y 2 3R 2 2 AN BA # a.b = V3 T I dacX §I9 I AT 82

0°/0°

30° / 30°

45° / ¥°

60° / &o°

Correct Answer :-30° / 30°
3)

Question Stimulus :-
CANCELLED

Maths

Ankita placed Rs. X at compound interest and it becomes Rs. 2X in 3 years. In how many years will
it become Rs. 8X at the same rate of interest? / 3if&dr xTUA THIRI AT UR ML 3 3R 3 I A 98 x &)
SITdT 8. 9THIRI TSl & &% A ¢x 39d 811 # fha-1 99y ahm?

e 21 years / 2 9
e 8 years / ¢ °Id
e 9 years / R HId

e 16 years / & 9Id



Correct Answer :-9 years / R dld

4)
Question Stimulus :-

Maths
Evaluate: [21%/3% dx / J&II®HT Y : [3%/3X dx
¢ (21/3)*+C/ RY/3)* + C
e 7Xloge7 + C / WX logev + C
e 7X/loge7 + C / V*/loge + C
e 21%X/loge3 + C / %*/loged + C
Correct Answer :-7*/loge7 + C / ©*/logc9 + C
5)
Question Stimulus :-

Maths

Anita sells her laptop to Ankit at a profit of 20% and Ankit sells to Arjun at a profit of 25%. If Arjun
pays Rs. 22,500 for it, what was the cost price of the laptop for Anita? / 3=IdT 3[UAT AUSTT 0% & ATH
R 3ifhd &) At 3 3R Sifpd 3l B 4% & TIH W Ul 8| 3R 3o ISP fT R, Yoo STHT HaT © dl 3Fiar &
AUery & Wle BT eI 1d B2

e Rs. 15000 / 24000o%Ud



 Rs. 18000 / (000 ¥UY
e Rs. 16500 / 2&400%Td
e Rs. 14750 / ¥o4o 3UY
Correct Answer :-Rs. 15000 / 34000%Ud

6)
Question Stimulus :-
Maths

Let A = area of a circle; C = Circumference of the circle and D = its diameter: What is the value of

A/CD? / afe A=Td &T &% d;C=9d P! IR 3R D= 3PS A| A/CD HT HIF JTd HI?
e 1/
e 0.5 /0.4
e 0.25 / oR4
e 0.33 / 0.33
Correct Answer :-0.25 / o.34

7)
Question Stimulus :-

Maths

What is the average of first 7 natural prime numbers? / UYyH © WITW qJda TEen &1 3fid fFera?



8.29 / (RN

6.00 / &.o0

8.14 / (.¥

6.29 / &.’R

Correct Answer :-8.29 / ¢.’%

8)
Question Stimulus :-
Maths

Shopkeeper reduces the price of product X by 20% and hence the sales increased by 30%. By how
much percentage, revenue changed as received by the shopkeeper? / gAY x JMHTT &I 0% YcT

T 8 SR Forad Iuat fast 30% 9¢ it 3| gP MR & §RI AR & SMYR WR I6RG & U § deaT 7471 82
e Increases by 10% / 0% EIET%
e Decreases by 4% / ¥% YcI %
e Decreases by 10% / 20%HYcI %

» Increases by 4% / ¥% del %

Correct Answer :-Increases by 4% / ¥% dgl %

9)



Question Stimulus :-
Maths

For what value of x, do the following equation holds good: 1/(x -10)-1/(x-6) =1/(x-8) - 1/(x
~ 4)? / T Q@ THIHIOT F 2/(x - 20) - 3/ (x- &) = ?/(x-¢) - 3/ (x - ¥) § x BT A {q B2

*5/4
.+ 2/%
e 7/
+9/%
Correct Answer :-7 / ©

10)
Question Stimulus :-
Maths

An urn contains 18 identical balls numbered 41, 42, 43, ....... , 58. A ball is chosen at random from
this urn. What is the probability that the number printed on the ball is multiple of 3? / Td HdRI A
HTHM ¢ e o8 ¥2,%R, %, vennnnnes ,4¢ TEmsit ¥ e fvar a1 8| U 9fa 59 v § 9§ gefo® ¥u A g4 1
STdT 8| 916 UR gisd I & 3 F YN P g9 Fora?

e 0.25 / o.RY

e 0.30 / o.30

e 0.50 / o0.%o



e 0.33 / 0.33
Correct Answer :-0.33 / 0.33
11)
Question Stimulus :-

Maths

What is the range of the daily wages of 10 persons given as (in ¥): 240, 180, 250, 160, 200, 280,
220, 170, 210, and 270? / 20 %ﬁmm;ﬁm%mﬁvﬁﬁaﬁ;ﬁmwaﬁﬁ%(ﬁﬁ%)
R¥0,2£0,349,2§0,300,3(0,339,2190,320, 3R 300?

e 110 / o

e 120 / RNo

e ¥ 280 / ¢o

e T160 / ®o
Correct Answer :-¥ 120 / Ro
12)

Question Stimulus :-

Maths

What is the LCM of 8x2 (x - 1)2 (x + 1) and 6xy (x + 1)2 (x -1)? / ¢x® (x - 2)® (x + ?) 3 &xy (x +
DR (x —R) AYIH JHATYT FTd HL?

e 24xy (x% -1) /M¥xy (x%-12)



o 24xy? (x2 - 1)2 / ¥xy?2 (x2 - )2
o 24x%y (x* - 1)? / ¥x?y (x* -?)?
¢ 48x2%y (x2 - 1) / ¥¢x%y (x2 -%)
Correct Answer :-24x2y (x2 - 1)2 / ¥x2y (x2 - ?)2

13)
Question Stimulus :-

Maths

If A:B = 2:3 and B:C = 4:5, then what is the ratio A:B:C? / 3R A:B=R:3 3ilX B:C=%:4 & dI A:B:C &I
SUTd T B2

2:3:5 / :3:4
8:12:15 / (:R:AW

4:12:15 / ¥::2«

8:15:12 / (:AWiR

Correct Answer :-8:12:15 / ¢:RR:q4
14)

Question Stimulus :-

Maths

Due to some problem with her walking shoes, Anjali walks at 80% of her normal speed and thus



was late for college by 15 minutes. What is the normal time taken by Anjali to reach her college at
her normal speed? /Wﬂﬁﬁﬁﬁﬂﬁﬁ%ﬁmmmwﬁﬁco%%qﬁ?ﬁ%sﬁ?wﬁmaﬁw
faemera # g4 fire R @ ugTdl 8| siwifer oM wr=y wifer ® srue wetfaeney fant v # ugedt 82

e« 2Hrs /¢

e 1Hr/4e

e« 3Hrs /3 %c

e 2.66 Hrs / R.§§ °¢

Correct Answer :-1 Hr / 2Ei%

Topic:- G3_General Reasoning
1)

Question Stimulus :-
Reasoning

Complete the Series as below and mention the nhumber that shall come in place of ‘X’'? / CiE] ﬁ't{ 11y

Gl DI [T B TA ga1¢ b "X’ & RIF WR HT R?
1 8 27 64 125 216 X

* 256 / 4%
* 225 / R4
« 343 / 3¥3



* 512 / &R
Correct Answer :-343 / 3¥3
2)
Question Stimulus :-

Reasoning

Sohrab celebrated his birthday which lies on 7th March in the year 2011 on a Monday. On What day
of the week shall his birthday be celebrated in the year 2013? / Hig30d A U SFAIGH H-MT Sif \© HIE
Y 022 HI AHAR BT ATAT 8. TY 033 H T YT ST T & fopd fa v=mam?

e Thursday / ¥dR
e Wednesday / §UdR
e Monday / IR
e Tuesday / HIAAR
Correct Answer :-Thursday / AR

3)
Question Stimulus :-
Reasoning

Which character shall come in place of '?' / '?’ & T W B IT &R MRA?



< K

< H

< K

Correct Answer :-
4)
Question Stimulus :-

Reasoning

Six Friends, Dawar, Eraz, Farzaan, Gurpritam, Hitisha and Indeevar are sitting facing the Table in



front of them. Their professions in no particular order are Plumber, Banker, Golfer, Architect,
Painter and Teacher. /

o: fi, TR, W™, B, IRMNAH, ffawr 8k s<iar @ 29a & ™A 93 7. 9% a9 foaqr fadt v s9 &
39 UPR &, Tagre], 9B, Meh, IgeR, R 3R Rer.

AMR=-: [/ 1f-:

1. Only two of them are such who are seated immediately next to each other and whose names
begin with the consecutive letters of English Alphabets. One of them is a Painter and the other
is a Teacher; / Q. Bﬂﬁﬁma’rﬁﬁ%‘a’rw@ﬂ%%m—w%%‘,aﬁ?ﬁ:ﬂ%ﬁ&iﬁﬁﬂ%ﬁﬂﬁﬂ@ﬁﬁ%ﬁ%%‘.mﬁw
REPR 3R guv e e §;

2. Neither amongst Farzaan, Eraz and Dawar is a Golfer or a Banker; / . o9, @ a1 s1aR d 9 13 ft
TewT a7 dH 8 2.

3. Indivar and Gurpritam are sitting immediately next to each other; / 3. sﬁmsﬁ?mwgﬂ%%m-
I 93 .

4. Hitisha plans to build a new bungalow from Sports earnings so he is seated immediately next
to Plumber on one side and the Architect on the other; / ¥. f2fowr % 9o @« #1 a3 I T 9@ 91 3t 3
TafeT 98 o & ure 931 2 3Rk IF gud e IRgPR FoT 8.

5. Farzaan always wanted to be an Architect but had to take up another profession eventually.

/ Q. GO EUIM TP IRGPR T 18T 4T A1 I SAdiTeal 30 ATHTT BT UST.

Who amongst the following are most probably seated together? / fafuf@a & @ 19 o 914 93 8 T34 &2
e Eraz & Farzaan / WVl 3R B
 Farzaan & Gurpritam / WIS 3R TRUGH
e Hitisha & Indivar / fefaur 3R s<fiR
e Dawar & Eraz / STd® aﬁvqwr

Correct Answer :-Farzaan & Gurpritam / B 3R TR'ffIT-I'H



5)

Question Stimulus :-
CANCELLED
Reasoning

Given is the Sales in Percentage Terms of a Company that Manufactures and Sells various variants
of Soft Drinking Beverages. If the Company has Sold 10,00,000 Litres of Beverages in all, then
approximately how many Litres of Lemon Flavoured Drinks has the Company Sold in the given

period of time / ST faT § T Hu-l &) fa! &) ufawa < & femmar mar 8, st <iaa g uyeryf =1 fAwtor sik
W@%@ggﬁﬁwzo,oo,ooo?ﬂaﬂuwzfa%%'a‘rwﬁngmﬁmfrﬁﬂwﬁ@aﬁu%
feraa ?

e 3,75,000 / 3,94,00
e 3,25,000 / 3,)4,000
e 2,00,000 / R,00,000
e 2,50,000 / R,10,000
Correct Answer :-3,25,000 / 3,34,000

6)

Question Stimulus :-
CANCELLED
Reasoning

While Dhanraj was playing Snakes and Ladders with his friends, he throws the dice in which he

gets a / S Y=RTS 304 O & 91y O ok Wit |We T UT, I/ T et fForad 39 e



O®EE

Correct Answer :-

7)
Question Stimulus :-

Reasoning



One Day International Batting Averages / U& f¢aRild Sfa=RTP1g Secidrei Sfd

90
80
70 7
60 -1
50 1
40
30
20

W AVERAGE RUNS SCORED
PER MATCH

B MATCHES PLAYED

Given in the Chart are the numbers of One Day International Cricket Matches played and Average of
Runs Scored res%ectively per match by Four Players Virat, Shikhar, Mahendra and Yuvraj. / add s
feaeiia siawrdia firdre A9 31 W ok Haw: IR fawnfsal, fvre, RER, 7% 3R gav™ g1 §91 ¢ =i & 3iwa faw e 3.

Find out approximately how many matches would Shikhar take to score Runs that Yuvraj has
presently scored. / uar @ f% gav gRT 910 T 41 3 R F1 & 00 R o1 @ fraa dg gae gi.

* 62/ &R

e 60 / &0

* 52 / W

e 42 / ¥R
Correct Answer :-52 / &R
8)

Question Stimulus :-



Reasoning

If in a language - :

black tank is written as vifri yfzi

mouth is big is written as xabcd dn vdo

zebra waits hourly is written as jmvkf efdyn labkgp

How would my name is ruth zuber be written in that language? /

3R ot HTuT H-:

®P ¢ DI AITTHIARIME dT AISYBUISIATS foram o

A3y 39 faT 31 veudiiist Stew didten ferar o

ST AW AR B ATHAPTE AT TATBe g S

dl 39 HIT & H1E ¥ 39y JaR I Y far J?
« Xp rfxm dn kbyl jbmvk / TaOUl IRUBTIHTH ST FAI5ed SiaCHATR
« Xxp rxzm dn kbyl jbvmk / TEIUl JRUFISISTH SIUT HalaRUAGSIdITHS
« xp rfxm dn kybl jbvmk / TaOUW JRUTGTIITH SITT Hargaivd SaldigHs

« xp zfxm dn kbyl jbvmk / T4l SSUHTRITH ST Sdldrsed sialdigHe
Correct Answer :-xp zfxm dn kbyl jbvmk / TRl SSUGTRITH ST FHdIdrsed SiaidigHe

9)

Question Stimulus :-



Reasoning

Nandita’s desk calendar shows date based on two cubes named ']’ and 'K’ that need to be
rearranged every day so that the correct date is displayed on the front faces of the cubes. From

dates 15t to 9th too both the cubes need to be used as single digit can’t be kept on the calendar
stand. The two cubes need to have which of the following humbers respectively so as to enable
proper display of dates all year round? / Sfear &1 P pds? W diid fewm & o < ey ')’ MR K R
iR wvar 8 o2 e yafRyT H3A1 usdr 3 91fe FIed & JHA arelt Jdg W Tt aRiE ueiRia &1 o 9. 3 | ddv §
dRIEl a@ t S T B THd 3Pl b FTU A STAHTA P DI T03d § 3T 30 PAST WS W 8! IWT o gFdl. 34
o0 R Fufafae & § sawr: o1 W S o @it arfe I« W= @1 9Rt aike 98 e @ s o 9@

e CubeJ:012345&CubeK:612345/T7W:0333¥4ATTTB: §333¥ Y
e CubeJ:102345&CubeK:345678 /8712033 ¥Y ATTTD:3¥ 4§V
e CubeJ: 234567 &CubeK:567890 /TN II¥KEOIATTTIBYEV LR 0
e CubeJ:012345&CubeK:012678/d73:0333¥4&TAK: 02361 ¢
Correct Answer :-Cube J: 01 2345&CubeK:012678/4Y73:0233¥4&YIK: o0&V ¢
10)
Question Stimulus :-

Reasoning

A certain relationship between the elements is being provided the statement below. It is followed
by two conclusions. Give the answer based on the relationship and conclusion that follow. / CiE] ﬁ'Q

¥$ﬂwﬁ$mﬁ%ﬁﬁaﬁaﬁ@%’.&a‘rﬁwﬁm&m&miﬁwﬁqﬂﬁa‘%ﬁ%mmwﬁamﬁ
I <.

Statements: / ®Y:

Dilip =2 Eeswara = Jayanti. Revati < Parvati; Parvati > Qamara / fediiu = i%l'\' > SO Gl < tl'lif'cﬁ;



grddl > $
Conclusions: / frewd:
I. Qamara > Eeswara / . PHY > 's‘%R

I1. Dilip > Parvati / 4. facdfiu > urddt
e Only I Follows / G o o
e Only II Follows / Had G
e EitherIorIIFollows /& 4l 9
e NeitherInorIIFollow/ A% 949

Correct Answer :-Neither I norII Follow / A% Y

11)
Question Stimulus :-

Reasoning

When Lalita was accompanying Latika to a Mall in Manipal, Latika pointed to a person and said that
she is that Person’s maternal Aunt’s only Grandchild. How is the person related to Latika? / Sd

aferar afaeT & 1Y Ard | T, dfdeT 3 TP sAfad B 3R IRT Hd §E Hel fh a8 39 AT B 76T Tt &1
UHdldl 91T 8. 39 Afad BT AfdPpT I o1 HaY 82

e Brother / 'l-ni

e Uncle / ddl

e Grandson / TIdl



e Grandfather / <lal

Correct Answer :-Uncle / 9T

12)

Question Stimulus :-

Reasoning

In the Number Series below, which Number should come in place of ‘X'? / CiE] & Wt T=ai &t 8[@?11

T X' & VM W HIAT 6 AR?
5 50 25 100 125 150 X

* 250 / R%o
e 200 / 00
e 600 / §oo0
* 625 / &4

Correct Answer :-625 / &4

13)

Question Stimulus :-

Reasoning

Statement I: Deepika is younger than Katrina / sy 2: difte i 3 aid 3.
Statement II: Priyanka was born before Katrina / sy 3: fidie1 &1 70 &8+ & ugd gon
Statement III: Deepika hates Priyanka / &y= 3: dfusr et @ qwvd @t 2.



If Statement I, Statement II & Statement III are Absolutely True, then- : / SRR &Y, FYAR IR FYA3

qofey @ 9@ ), di-:
« Deepika is the Eldest amongst the Three / <ifu®r 41 A TS
 Katrina is the Youngest amongst the Three / FHAAT diFl | Bidt %
« Priyanka and Deepika are the best friends / fd®T 3R <ifueT Ia9 3D RA &
« Priyanka is the Eldest amongst the Three / fiieT §191 4 gt @
Correct Answer :-Priyanka is the Eldest amongst the Three / fOrdeer 91 9 CE| ?

14)
Question Stimulus :-
Reasoning

If in a particular coded language ABSOLUTENESS is written as BATNMTUDODTR, then how
LIKELIHOOD would be written in the same Language? / 3R ﬁv_\‘:ﬁ yToT §

SreHgaTa
(ABSOLUTENESS )®! SiT¢ITuadgSIaiaidisik (BATNMTUDODTR) ﬁ’l"@?r g a St ywr § arsedigs
(LIKELIHOOD) & fardm?

MILFMJIIPPE / THOUAUHGISMSUIYS
MHLDMHINPC / UHUOUSS ITHU TS THReT
KHIDKHGNNC / $UTSis b Uaegaeadt

MHLDHMNIPC / THUIUAS ITIUHT3TS UIdt
Correct Answer :-MHLDMHINPC / THUIUAS ITHUTSTSUUI



Topic:- G3_General Science
1)

Question Stimulus :-

General Science

DNA Multiplication is known as: / SIg T HEWUT (UST-/TUI) Dglldl 8:
 Transcription / fer@arur
® Replication / Ufa==yor
e Translation / 3idTl
® Transduction / YA
Correct Answer :-Replication / Ufa==uur

2)
Question Stimulus :-

General Science

Which of the following statements are correct? / fufafea d 9 S AT YT I %?
e Homo erectus is the ancestor of man / HIHq &I qﬁTrr g AT §
® Cro-magnon man'’s fossils have been found in Africa / P1-ATF9 A9 & SiIaT2H 3NFIHT § UTT 7T &
® Australopithecus is the ancestor of modern man / 3TYf~® UM &1 @ Te@IUATT

® Cro-magnon man is the most recent ancestor of Homo sapiens / ATHa-WTfd (FrA-AfT=) &1 Fatyf~e gder H1-B7== 99 3

Correct Answer :-Cro-magnon man is the most recent ancestor of Homo sapiens / HTHa-9Tfd (FM-AfUU=T) 1 Fafyfe gds -



A A9 @

3)
Question Stimulus :-
General Science

The World Environment Day is celebrated each year on: / ufead fay yatazor feaw 39 fo 9= simar T

e 20'h November / Yo FdER

e st uly / woerg

« 20t May / R0 WiE

L 5th June / KA

Correct Answer :-5t" june / 4@
4)
Question Stimulus :-

General Science

Two parallel wires of length 9 m each are separated by a distance of 0.15 m. If they carry equal
currents in same direction and exert a total force of 30 X 10°7 N on each other, then the value of the

current shall be: / { . @& 3 JURTA dR o.24 Wt F gt W §| aft 3 w € faxn & vo qwH fagaa-vare ae+
B § Td IRER W 30 x 20™° & 96 @I 8, I fAgad-yarg &1 W ghm:
e« 3.5A/ 3.4A

e 0.5A/0o4KA



e 25A /R4 A

e 1.5A/%4KA
Correct Answer :-0.5A / 0.4 A
5)

Question Stimulus :-

General Science

In which era, life was absent ? / &3 e (g) #, sfta srqufRud ur?
e Archeozoic / Gﬂﬁ?&ﬁﬁﬁﬁ

® Proterozoic / Lﬁﬁﬁﬁgﬂi

® Azoic / ISP

® Paleozoic / aﬁéﬁ\?ﬁ?ﬁ?
Correct Answer :-Azoic / 3s®
6)
Question Stimulus :-
General Science

Pace Maker is a device generally used to stabilize the condition of a person suffering from: /

nfafuRe (TTHeR) e g & o9 JuRvE: 39 A i afdd 991 RUfT @ R F3 & forg o ST 8:
« Arrhythmias / 3/dradr (TRfEeM)



® Cataract / Hifqurfag (Fevae)

® Down’s Syndrome / SI39'9 figH

® Latemeria / ARl
Correct Answer :-Arrhythmias / 3dlddl (QﬁﬁI\?rM)
7)
Question Stimulus :-

General Science

Cycas Revoluta is commonly known as: / Wﬁﬁa T ITYRYT Uiy %:

 Date Seed / WX &I de

® Sago Palm / {3 (WIgET) TS (347)

® Almond / 9™

® Cashew Kernel / 19 it
Correct Answer :-sago Palm / {47 (|TggMT) 18 (38)
8)
Question Stimulus :-

General Science

Mitosis is the process by which eukaryotic cells: / AU (Efaure) a8 ufssar 8 e gRT gerifes



« grow / d §
* multiply / TOIGfS Hd &
® expose the genes for protein synthesis / T WAV & fT d=MY] (ORE) &Y HTgd Hd &
® become specialized in structure and function / ST €9 firar & g&f 81 oI1d §
Correct Answer :-multiply / ¥@Igfg #3a &
9)

Question Stimulus :-

General Science
Magnet’'s Magnetism is derived by: / gW® &I g d b GRI gdad g1 8t

e Earth / qzaﬁ

® Cosmic Rays / FEUSIT (HgTeRIfa®) fopvort

 Pressure of big magnet inside the Earth / 9t & i fa=ma g 1 a1

® Spin Motion of Electrons / sﬁﬁﬁﬁ % quﬁ Ter
Correct Answer :-Spin Motion of Electrons / Eaaﬁ"ll:l' & q:Uﬁ T

10)

Question Stimulus :-

General Science

The Decomposition Temperature is maximum in case of: / 9 UHIU § 3TUCH dIYHE HA(UP gl 2:



Barium Carbonate / aTH &1dAc
Strontium Carbonate / &if¢dH HTEH
Calcium Carbonate / $fXIH FEHT

® Magnesium Carbonate / AR FE[e

Correct Answer :-Barium Carbonate / Rgw FElRe

11)

Question Stimulus :-

General Science

Which amongst the following is a Poisonous Snake? / FafafRa A S s= T fauer Od 22
* Russell’s Viper / A" ?:ITsﬁlTR (tb_{'f-'-l Frff)
® Tree Snake / & 9d
® Passer / TRR
® Eryx /TiWN
Correct Answer :-Russell’s Viper / ' aﬁw (Wﬁ Wf)
12)
Question Stimulus :-

General Science

Sound Waves are not transmitted for a long distance because: / -3 |l gﬁ GER RG] T&ﬁﬁ?ﬁ



Faife:
« They are absorbed by the atmosphere / I aIdIaRl §RT ATNAT B foram ST 8
® They have constant frequency / 39&! g1 R gt 3
® The height of Antenna is not very high / IT8® (¥3=) Ft $aS ify® & &
® The velocity of sound wave is very less / @H-aHN $1 Tfd A HH il &
Correct Answer :-They are absorbed by the atmosphere / 3¢ dIdIaRul gRT AT B form Sirar @

13)

Question Stimulus :-

General Science

Sanjay claims to have made an Engine delivering 1.0kwpowe5 with fuel consumption of 1g/s. The
calorific value of fuel is 2 kcal/g. This claim is : / ¥4 20 f&.al. (kw) AR T { 7./9. (g/s) Y9 Y
(TU) JUST TP SO 9411 BT gIaT Sl 8| U BT ST A R fb.He. /31, (kcal/g) 8| 98 SMET &t

Valid / 919

Invalid / 3HT

® Dependent on Engine Size / 99 & 3TeR W fasiia

Dependent on Load / YR 1R fReha
Correct Answer :-Invalid / 3@

14)

Question Stimulus :-



General Science

Metamorphosis occurs in: / 31 # ST §dT 8:

e Rat / JU®
® Bat / 9HIGS (MGS)
® Amoeba / 3iaT
® Frog / He®
Correct Answer :-Frog / He®

Topic:- G3_General Computer Knowledge
1)

Question Stimulus :-
Computer

Possible port available in a modern computer:
gR:

e A) LPT / Tadidl

e B) USB / gUdd!

* C) (A)and (B) / T Td 4t

« None of the above / SWRIad & ¥ Bl T8l

Correct Answer :-C) (A) and (B) / TTG &t

2)

/ SMYFIP Ture | Iuas U



Question Stimulus :-
Computer

The computer that processes both analog and digital data is called ---------- ] PR W IYY DI T ST d C| TRIpd
&dl ¢, 98 PgaTdl o !

® analog computer / U LUES

e digital computer / 3®Ig TIMUTH

® hybrid computer / qU-HHR IS

e mainframe / §&d 3fUefea (SfaTiie)
Correct Answer :-hybrid computer / dUf-F&H3 TS
3)
Question Stimulus :-
CANCELLED

Computer

is/are the available versions of Microprocessors / ﬁ&ﬂmﬂﬁ P IUAR

S R
¢ J-3/9-3
¢ L-3/ TA-3
« 1I-3 / 3T3-3
e V-3 / &1-3



Correct Answer :-V-3 / &©l-3

4)
Question Stimulus :-
Computer

LSI, VLSI & ULSI chips were generally used in which generation? / m@ané, %’rqawe«ni Td Wéﬂé o JrurRvE: o
o # agd gid 4?

* Fifth / U9H

e Second /%Eﬂ'q

® Third / qaId

e Fourth / Tgd
Correct Answer :-Fourth / g4
5)
Question Stimulus :-

Computer

is a device used as the standard pointing glevice in a Graphical User Environment. /

ReTere SuaiTeal uRaw # sraga TP IS Gbdd 47 gl
e Keyboard / Peil Ued (PIElS)

e Trackball / 3&ald
e Joystick / SIIARe®




® Mouse / HI3H
Correct Answer :-Mouse / HI3H
6)
Question Stimulus :-

Computer

The CPU and memory are available on the: / ?ﬂ'fﬂ'g Td '\‘Hﬁf 9 WY U %:
® expansion board / fo R yea
®* motherboard / BT Ucd
* storage device / HSRUI ¥F
® output device / ufonmy I3
Correct Answer :-motherboard / & Ucd
7)
Question Stimulus :-

Computer

Google chrome is a . / T PIH § Th I
e system software / URGTT T3 (ATFAWR)

e browser / f[TR® (FTTR)

* compiler / HPdAD



* none of the above / IWIad A A IS AT

Correct Answer :-browser / fGRR® (FT3TR)

8)
Question Stimulus :-

Computer

is not an application where internet is used. / Udh QHT aramﬁﬂ Hﬁ% \‘rl%’f
eIt (§ee) &1 UGN giar gl | Jie. e § |

« Net banking / d3eITa 3ifirpiyur (A dfdm)
« E-commerce / 3-410T (3-H1HH)
e Online Shopping / AR %Y (&ﬁ?ﬁrs'-'-[ 3Z1T"['Ei'lT)
e None of the above / Bﬂ?ﬁﬁﬁ@ﬁiﬂﬁ
Correct Answer :-None of the above / IWRId # & HI 81

9)
Question Stimulus :-
Computer

The t%ree attribute inside the for loop are separated by: / ‘%‘g” (‘tﬁ?’) qrer (TJ) A fRa & fo=iwarsi & Eﬂ% GRT JYh forar
OITdT &:

® semicolon / rdfeaRm
e comma/ 3IUfaRTH



® colon/ GI'T’fﬁTIT[

® hyphen / IHTH ﬁl’a’
Correct Answer :-semicolon / JrdffaRma
10)

Question Stimulus :-

Computer

symbol in a flowchart are used to represent all arithmetic &rocesses like addition,

subtraction, multiplication and division. / varg IRE (w 91d) & bl BT IUART AT, faan,
U Td faure o et siwvriordta uftrarsti & gx1i+ & fore giar g1

« Input/output / fFa=r/afyoma

e Terminal /Eﬁ'\'

« Processing / Ufehan
 Decision / fAulg
Correct Answer :-Processing / ufrar
11)

Question Stimulus :-

Computer

IP aéldress, Ethernet, Routers are terms related to field of : 33Ul f¥&HI, SYRAT, I3 39 &F A Hafa
T &

e Computer Networks / TIUIH dASITd



« Computer Graphics / TIU® ARG

« Computer animation / HIUIH THUI

« Computer Vision / I0® 2P
Correct Answer :- Computer Networks / TUI$ dFeTd
12)
Question Stimulus :-

Computer

Which of the following is an invalid type of memory? / frafafea & 9 w1 SRURIGT &1 T@ [T ToR e?
® RAM (Random Access Memory) / 3RTIH (W/Gﬁ'ﬂﬁl—d SUNTH Fjﬁf)
e ROM (Read Only Memory) / 3R3ITH (Had Ua-11a Ff)
® EPROM (Erasable Programmable Read Only Memory) gﬁ\'ﬂﬂ&ﬁ@ (ﬁahmﬂm PUTCRAY $ad Uo1g F[ﬁf)
® PRAM (Programmable Read Access Only Memory ) / TﬂGI'ITQ'QT[ (WI%’Q@W H9d Yo1d IUNTH F[ﬁf)
Correct Answer :-PRAM (Programmable Read Access Only Memory ) / TﬂGI'ITEQT[ (ml'!ﬂ"q Fad U1 SUNTH '\‘Tjﬁf)
13)
Question Stimulus :-

Computer

The C++ programming language is very popular or famous because it has: / "t++ (C++) FHIGIH HTUT 3cdd AIBIOT IT YRS

8 Hife 399 §:



e backward compatible with C / 3t (C) & 91y qﬁ'l?lﬁ?ﬁ\?dﬂ?g_cf
e widely available / TTUH ¥4 ¥ IUAR
® object-oriented / H?ﬂﬁ'g
® all of the above / SWRIad gt
Correct Answer :-all of the above / SURIad gt
14)

Question Stimulus :-

Computer
Microsoft .NET is . / HTSHIEIE.AT 8 |
® an Open Source / U Had iG]

e acClosed Source / T® §g Hid
®* aBrowser / wﬁw
e all of the above / SR It

Correct Answer :-a Closed Source / U® 9§ Hid

Topic:- G3_Mechanical
1)

Question Stimulus :-
Mechanical

In a free expansion process, / ad YR &1 Ufehar #,



the work done is zero / a1 a1 &1 I 81 &1 @

the heat transfer is zero / ST VIRV [ Il &

the work done and heat transfer both are zero / a1 a1 F1f 3R FAT WIHTGRUI P

gl g

the work done is zero, but the heat transfer increases / f&ar 1 &1 P giaT 8 afe
ST RIHIAROT §¢ SITdl §

Correct Answer :-the work done and heat transfer both are zero / {41 a1 &1 3R ST AR PG

g g

2)

Question Stimulus :-
Mechanical

Which of the following is the correct relationship to determine the factor of safety in designin

gachine elements? / T3l I dal &I ST 1 T GR&T & FRSBI &1 Auifa o1 & fow 9 o § a1 98t 99y
2

Design stress/ ultimate stress / f&uirz= Ufdad/=Ror Ufded
Ultimate stress/ design stress / dXH ufdad / fesiegs ufded
Ultimate stress* design stress dH PIRCNRESIESRIRCNN

e None of the above / B‘@ﬂﬁﬁ'\ﬁ?ﬁﬁqﬁ

Ultimate stress/ design stress / @Y Ufdad / f&ugd ufdacCorrect Answer :-

3)



Question Stimulus :-

Mechanical

Adiabatic process is also called as: / FTgreq ufsear & fAg +ft H'Te'?f %
o Isentropic process / 3gA—<IU® Ufehdr
 Isenthalpic process / 3gaAdAp® Ufpar

Isochoric process / 3TgdIbIRe Ufchk
« Isobaric process / 3gHIaR® ufssar
Correct Answer :-Isentropic process / 6ﬂ3@§T\ﬁ$ uferar
4)
Question Stimulus :-

Mechanical

In actual refrigeration systems, the compressor handles vapour only. This process commonl%

referred to as: / dIEd® Mdad yunferdal &, THS® Sad HIT S GUTdT &1 9 Ulhar &1 Ulg: 9 #gd
« Gas compression / 19 dfig®
e Phase compression / 3O §dls®
e Dry compression / WWW
e Wet compression / wRd gite®

Correct Answer :-Dry compression / J[&h Tdited



5)
Question Stimulus :-
Mechanical

The Euler load for a column is 1500 kN and crushing load is 1000 kN. The Rankine load is equal to:

/BIaH & T geR | 1500 HTA 3R HRVT ds 1000 HT g1 I7hIs dls fhad SvEw §:
« 500 kN / Yoo HTA
e 2500 kN / 400 FHTA
e 600 kN / §oo0 HTT
e 1250 kN / Q40 T

Correct Answer :-600 kN / &oo %QT-I
6)
Question Stimulus :-

Mechanical

gweep pattern is used for moulding parts having: / ﬂ% Yo &1yt Ay ara a?rré & U & ﬁl‘l;f far srar

Triangular shape / By smer

elliptical shape / 3STPR ATHR

uniform symmetrical shape / qwcrmﬁm ATPR
complicated shape having intricate details / &9 SH®IRYl aTd Sifed THR



Correct Answer :-uniform symmetrical shape / Td¥*U AT SMTPR

7)
Question Stimulus :-

Mechanical

In case of a Rotameter, which one of the following statement is correct? / JAerier ot fRAfa ﬁ, fadsa
DI T HYT Tal 82

 Float has a density lower than the density of the flowing fluid / UdgHIH d¥] &I Udcd

TR ST $ TTa @ PH ST &

 Float has a density equal to the density of the flowing fluid / UWdgHIH d¥] &I U4cd
YaIRd o0 % U P aRIER gl 2

 Float has a density greater than the density of the flowing fluid / UdgHIH d¥] &I Y-
yaTfed S0 & U= & STeT 8 @

« None of the above / SUWRIad HlIg a8l

Correct Answer :-Float has a density greater than the density of the flowing fluid / UdgHIH d¥d PI
Ucd UaIfed &0 & °-cd W SUTST ial &

8)

Question Stimulus :-
CANCELLED

Mechanical

In a thermodynamic cycle, the heat is rejected at:- / T SWHRIAS! I H, HT g W= @RS g1 ! 8:-



Constant temperature / fRR aqHE
Constant enthalpy / f®R ardig enfyar

Constant volume / fRR 9

Constant pressure / R gama
Correct Answer :-Constant volume / RR AE
9)

Question Stimulus :-

Mechanical

What is the significance of zero Poisson’s ratio? / 3 ufge 3utd &1 F1 Hgd @ ?
 Rigid material / ﬂv—cﬁTER?j
 Perfectly plastic material / 3yl wiRed a¥%q
 Both the above / SWiad Gl
e None of the above / SR ﬁﬁ T-Iﬁ
Correct Answer :-None of the above / IWRIad IS gl

10)
Question Stimulus :-
Mechanical

The flow of steam in a nozzle is subsonic at: / A& # A9 R YU T YdIg AAS gidT 8



throat / wWc ®

entrance / A% W

convergent portion / 3fHART YT W)

divergent portion / SMUART YT WR
Correct Answer :-convergent portion / ST T W)

11)
Question Stimulus :-

Mechanical

Which type of rolling mill is used for the rolling operation? M can be transferred to Set 3 / CRER-IU]
& fore f5a yopR &t 9o faa (AfeiT firer) &1 yai frar sirar 82 7 e 3 # Wi« f5ar & Jodar @

« Two high rolling mill / & 3= AfeiT fir@
 Three high rolling mill / 9 3= AfeT e
« Four high rolling mill / IR 3= T fia
e All of the above / IURIad 94

Correct Answer :-All of the above / IURIad

12)
Question Stimulus :-

Mechanical



A 50mm diameter solid shaft is welded to a flat plate by 10mm fillet weld. If maximum allowable
shear stress is 80MPa, how much maximum torque the welded joint can sustain? / 50 it &

o yfids # 10 it ufget =ier §RT U Ui Wi A o @ §rdl 21 afe eiftean wierd srasqur ufaaw 80

THUIE g, df Srars S Sifiredd fdn ol &l Ig bl 2?
2.82 kN.m / R.(% kN.m

2.22 kN.m / .3 kN.m

3.22 kN.m / 3.3 kN.m

2.00 kN.m / R.00 kN.m

Correct Answer :-2.22 kN.m / 2.3 kN.m
13)

Question Stimulus :-

Mechanical

Cast iron produced by adding magnesium to molten cast iron is

i A R fPT W eaar @R S @gd 8l
e nodular cast iron / fREER gaar diagn
o chilled cast iron / $ST Tddl @lgl
e grey cast iron / U goar drgl
e malleable cast iron / T-Ifl?{EIHT@BT

Correct Answer :-nodular cast iron / |5R33R eddl FﬁBT

. / fUgd gu coar aiig &



14)
Question Stimulus :-
Mechanical

An ideal gas as compared to a real gas at very high pressure occupies: / IRAfd® T Ft ga1 A TH
3Te’t A 98¢ 3= 19 W AT Bl 3

more volume / Slql —Idd

Unpredictable volume / 3ifFaf¥d smaa+

same volume / JHH 3TIdH

very less volume / 98¢ ®H 3TAdT

Correct Answer :-more volume / Il Tddd

15)
Question Stimulus :-
Mechanical

The Reynolds number for flow measurement is given by: / Udlg HIUA & ﬁlﬁﬁm e &1 feraa

u<Ria fear s 8:
e vdu/p

vdp/H

vd/pH

pu/ vd



Correct Answer :-vdp/p

16)
Question Stimulus :-
Mechanical

Whirling speed of a shaft coincides with the natural frequency of the . / T &-ds ot Ui

Tfa D MIPpfa® IMgfa & A1y e g1
 longitudinal vibration / dddd $Uq
 transverse vibration / 3R %U9
e All of above / SWiad gt
« none of the above / IR I 8l

Correct Answer :-transverse vibration / U $U9

17)
Question Stimulus :-
Mechanical

All heat engines utilise / 9 S o PT YO HId &
« low heat value of oil / 9@ & 5% ST 9 (e 37
« high heat value of oil / 98 & 3= FT A (FIc dH)

e net calorific value of oil / 9@ & $d ST A



e aggregate calorific value of oil / a9 & IHY S 919
Correct Answer :-low heat value of oil / ad & 79 S aE (é’l‘t’ 3?1)
18)

Question Stimulus :-

Mechanical

A rotor weighing 100N is mounted midway on a 20mm diameter horizontal shaft supported at the
ends by two bearings. The bearing span is 800mm. Determine the static deflection of the shaft if it
runs at a speed of 3000 rpm. (given E=2*105 N/mm?2) / 100U g5{ &1 TP e gl fewurq (fFeifim) grr
3id o guida 20 firft = &t afos YRids R &g A siteT @irar 21 fewa &1 fawar 800 firdt 81 afe ¢Rics 3000
ARUTTH Ft 7fd A T@d! g o YFEids F R faguor &1 gar Fiferel (E=2*%105 N/mm?2)

¢ 0.850 mm / o.cko At

e 0.679 mm / o.gwR i

e 0.250 mm / o.34o i

e 0.521 mm / 0.4 fadt
Correct Answer :-0.679 mm / 0.§0R ot

19)
Question Stimulus :-

Mechanical

The purpose of normalizing is: / AP DI BT 3%@ %:

« Grain structure refinement / HUT GITT URTHIOT



« Removal of strains caused by cold working / HTGX[RI HTd & BRI T GRI BT geAT

e Removal of dislocations in internal structure due to hot working / YD BTH & HRUI
ATAR® JAAT A g5 TSTS DI geMT

« All of the above / IWRiad It
Correct Answer :-All of the above / SWIiad It
20)

Question Stimulus :-

Mechanical

With increase of pressure, the latent heat of steam / GdId 91 & 1Y g1, UTT BT T ST A
« Will not change / ®I5 Uf¥ad a8l gim
e increases abnormally / SNHMHIR U I H%Tﬁ
 decreases / Uit
« behaves unpredictably / 3ifAf3d &1 & gafg S

Correct Answer :-decreases / ol

21)
Question Stimulus :-
Mechanical

The flow measurement device that produces low head loss, low differential pressure and has low

sensitivity is: / 98 UaTg AIYA 7 S 9 RRT 819, 1Y srawes qard I HdT ¢ iR o) Haga=hadr A @



Venturi meter / 4931 ez
Rotameter / JcTHIER
Nozzle / Fi®

Pitot tube / UIUdc &d
Correct Answer :-Pitot tube / UTgdc &d

22)
Question Stimulus :-
Mechanical

Determine the power transmitted in a belt drive if the tensions in the tight and slack side are
1200N and 1000N, respectively. The velocity of the belt is 10m/s: / Th Ug (de€) HI T H TR SHoll
T UdT ST afe $A gU 3R Rf¥a ik ¥ ufdaa wa=1: 1200 T 3R 1000 TH g1 U2 31 1fd 10 W./F. B:

e 1200W / Q0o dIc
500W / oo AcC
e 2200W / 00 dIC
e 2000W / 000 d[C
Correct Answer :-2000W / o000 d[c

23)

Question Stimulus :-



Mechanical

In case of beams, the point at which shear force changes sign, the value of bending moment will

be: / fvur ot fRUfa A, g5 fig w8l sru=uvr & fag ggaar g, a8t 791 3yt (SfET wide)grm:
e Maximum / 3firepan

e Minimum / YAdH

e Zero / YA

e Infinity / 3Md
Correct Answer :-Maximum / Siftrman
24)
Question Stimulus :-

Mechanical

To transmit power only in one direction, which of the following is the most suitable screw thread? /

St &1 Rk T g fo=m # Jaia $7 & g, Fw & § 919 99 Sy TaeR 82
Acme / fRreR
Square /am‘
Multiple / 3fgad
« Buttress / & (dc¥)
Correct Answer :-Buttress / ¢& (dcd)

25)

Question Stimulus :-



Mechanical

Which one of the following is NOT a temperature measuring instrument? / fada s U dTIHTA HIUA

T 51 82
e Thermocouple / YHipId
 Rotameter / JeTHier
e Thermistor / yftfeer
e Pyrometer / URRIHIER
Correct Answer :-Rotameter / Jeiier

26)
Question Stimulus :-
Mechanical

In case of a riveted joint, the tearing %fficiency is 40%. What will be the ratio of diameter of rivet
to the pitch? / @ai@iferd sitsl (Rfaes Siig<H) @1 R A, weT ge@ar 40% il 81 JT 3 R Fia & AR
BT 3UTd T §IIT?

e 0.6 / 0.5

e 0.5/ 0.4

e 0.25 / o.R4

« None of the above / SWRIa # ¥ &l gl

Correct Answer :-0.6 / o.§



27)
Question Stimulus :-
Mechanical

The increase in pressure:- / qdld ﬁq@:
* Does not affect the boiling point of a liquid / & & PYTID B YU T8l Bl %
« Reduces its volume / IH®! AET &I YTl &
« Lowers the boiling point of a liquid / %0 & HYih B! HH Bl &
« Raises the boiling point of a liquid / §0 & $YiP &I g &
Correct Answer :-Raises the boiling point of a liquid / & & HYFID Bl Tl g

28)

Question Stimulus :-

Mechanical

%Vhat do you mean by the term EOQ in an inventory control? / a¥qgd! A0 & Seag | 39 1 JHsTd
?

Easily ordered Quantity / I3d Uil HHEAT

Easy and Open Quantity / 93d &ﬁvarqw

Ecofriendly observed Quality / TaiaRUl-3%d Tddférd AT

Economic Order Quantity / 3fd& HiT AT



Correct Answer :-Economic Order Quantity / 3Tii& i T AT

29)
Question Stimulus :-
Mechanical

For a thermodynamic process to be reversible, the temperature difference between hot body and

working substance should be: - can be transferred to Set 2 / SHFIfd®! &1 Ufspar & Ided & forg, T
avg 3R prifier vard & S aaHE $1 SR AT AT THE (WE) 2 W WHiaRd frar o wedr @

e Negative / APRTHD

o Infinity / 3Fd

e Maximum / 3fferepdaH

e Zero / Y[W

Correct Answer :-Zero /

30)
Question Stimulus :-

Mechanical
A beam having fixed support at one end and free at the other end is called as: / T® f&vur (fi9) o g®

TH BR W fRR a0 g 3k gk B I 98 gad &1 df I |1 Hail:
e Overhang beam / ﬁ?ﬂﬁﬁéﬁﬂ'ﬂ
e Fixed beam / fRR fdrur



e Cantilever beam / YSI<iida® fhror
e Continuous beam / 3ffaxd fHur
Correct Answer :-Cantilever beam / 'ﬁ\‘rﬁ?ﬁ?ﬁ? for

31)

Question Stimulus :-
CANCELLED
Mechanical

Which one of the following is the correct value of standard atmospheric pressure? / g 9 9 = ae

IHSHIT 19 BT &l A1 82
e 1.013 bar / 2.0} IR
e 760 mm of Hg / W&o firHl} 3T Taeit
e 10.3 mm of water / 20.3 Y affw arer
« All of the above / SWRIed |+
Correct Answer :-All of the above / 3WRIa Tt

32)
Question Stimulus :-
Mechanical

Which of the following Newton’s law states that every action has an equal and opposite reaction? /

g § ¥ e &1 B A1 Fraw 98 Fedl ¢ 6 Tl a1 e wer R faudia ufafhar g 82



Newton’s first law of motion / <I¢ ®T UgdT Tfd &1 faw

Newton’s second law of motion / < &I garT Tfa &1 faw

Newton’s third law of motion / <J&-1 &1 dRT Tfd &1 fAaw
« Newton’s fourth law of motion / =ge &1 TYT Tfd &1 g
Correct Answer :-Newton'’s third law of motion / SI& &T dIERT TIfd &7 fAaw

33)
Question Stimulus :-

Mechanical

Moment of ingrtia about an axis perpendicular to the plane of an area is known as: / T® &7 & 9Ue |
9ad TP e o S 3MYYl &1 HeT SIIdT 3:

e First moment / UYH GITE{Uf

e Second moment / fgdia 3myg

e Polar moment / g'qﬁ'q \’vITT’f

« Axial moment / 3i&fta GITELUf
Correct Answer :-Polar moment / S;[Eﬂ'q &I'fquf
34)

Question Stimulus :-

Mechanical



A ship whose hull length is 100 m is to travel at 10 m/sec. For dynamic similarity, at what velocity
should a 1: 25 model be towed through water? / T& Sgi S/ Uided d@ars 100 H. g, 98 10 H./3. $i
Tfa A AT HRA g1 A FHHEGT & AU, U 1:25 Afsd @1 Ul W) fag ufa w) w=iieqr @ifge?

« 10 m/sec %0 Hl./9.

« 50 m/sec / Yo Hl./9.

e 2m/sec /R H./A

* None of these / Eﬁﬁﬁgﬂﬁ
Correct Answer :-2 m/sec / R H../d

35)
Question Stimulus :-
Mechanical

Which one of the following physical quantity is constant in the Gay-Lussac’s law? / g d Q9
Wifaeta arEm t-gare & faa o RR Ed 82

e Pressure / qId
e Volume / 3Tdd-d
e Temperature / dIUHH
e Weight / YR
Correct Answer :-Volume / 3Tddq

36)



Question Stimulus :-
Mechanical

In a two stroke petrol engine, the port that serves as the passage for thg trans_;fer of etrt_)l-and-air
mixture from the crankcase into the cylinder is known as: / al- sﬁﬁ fr, dg o Fped I
Rrdex & Ugta oMk arg & fAyur & Yo & fore uy & U § /" a1 €, '

admission port / a9 gid
inlet port / YafRr®T Uid

transfer port / 330l Uid
exhaust port / ™I Ui

Correct Answer :-transfer port / 3ia30T Ui¢

37)
Question Stimulus :-
Mechanical

%n a reaction turbine, a stage is represented by: / T® 3fHferar EE'ET-[ ﬁ, Th TqR0T g gr1 L‘IE'QTH ICRIRSIGH]

each row of blades / Bd® & TP Ufdd

number of discharge of steam / HIU & fAafs &t d=mn

number of casings / 3TaRUT $I TBAT

number of exists of steam / HTT I IUfRUTT B T=T



Correct Answer :-each row of blades / Bd® & Ud® Ufad

38)
Question Stimulus :-
Mechanical

Which law states that the internal energy of a gas is a function of temperature? / P19 91 qg

<xitar 8 I 1 @1 sral® Sl arauE &1 &1 82
Laws of Thermodynamics / SHRTA®! &1 g

Joule’s law / 5@ &1 g
Regnault’s law / ¥Hiee &1 fAa9

Boyle’s law / §19@ &1 fFa#

Correct Answer :-Joule’s law / [d &T fAad

39)
Question Stimulus :-
Mechanical

When steel is added with vanadium, the effect is: / 99 33T () § gAfsgw e faar sirar 8, 9 9T

WS T gl &
e Increase in tensile strength / 99 @I Uoqd! # gfs
« Decrease in tensile strength / - &I HoIg | HHI

« Decrease in compressive strength / Grlis® Ao # w1



e None of the above / rmﬁaaﬁﬁaﬁéqﬁ

Correct Answer :-Increase in tensile strength / 999 ! Hoigal | gfS

40)
Question Stimulus :-
Mechanical

The rate of heat transfer across any plane normal to the 'x’ direction is proportional to the wall area
and the temperature gradient in the 'x’ direction. This statement is also referred to as: / fodt Ture

SeEd | “x’ f= # ST RIFTERU $ & AR & &F 3R x'X=m # 9rvH= SURH &1 rqurdt 81 39 &y &t A
TR ¥t wefta fear erar 3:

« Second Law of Thermodynamics / SSRIfd®! BT gaRT fAaw

e Kelvin’s Law / Hfeas &1 g

e Third Law of Thermodynamics / SWHNId®! BT dIRT fAa|

e Fourier's Law / BINUR &1 fFraH

Correct Answer :-Fourier’'s Law / BIRGR &1 fAaH|

41)
Question Stimulus :-
Mechanical
Which one of the following is not a type of lubrication process? / A% A 9 o1 U9 YR Bt Ravus ufssar
e 82
« Gravity feed / ¥ AU



e Forced feed / HRAT JFUROT
« Splash method / fos®a &t fafy
e Vapour absorption / diq SGRNYUT
Correct Answer :-Vapour absorption / 9™ SR

42)
Question Stimulus :-
Mechanical

The lip angle of a single point cutting tool is: T® fdg T IUHIVI HT HFAIP HIVT §:

10° to 30° /0 °H 30 ©

30° to 60° / 3002 P go ©

50° to 60° / 4 © F §o ©

60° to 80° / €0 © { (o ©
Correct Answer :-60° to 80° / o © ¥ ¢o 0

43)
Question Stimulus :-
Mechanical

The average shear stress in the hollow shaft is can be transferred to Set 3 / U® g rEd gi-ds ° e
SRV 3919 gidT 8: IY=d (FYE) 3 H WA forar <1 g&ar @



Equal to that of in the solid shaft / 31 §31-¢8 ¥ 3fAd U= GI1T & a6

More than that of in the solid shaft / 31 Y-d8 # 3fId UF=UUT ga1d J TSI
Smaller than that of in the solid shaft / 319 ¢¥1-ds § 3fd U=YUT ga1d | HH
None of the above / SR aﬂé T-Iﬁ

Correct Answer :-Smaller than that of in the solid shaft / 319 §3-ds ¥ 3fd Y=Yl a1 & HH

44)
Question Stimulus :-
Mechanical

A machine punching 40mm diameter holes in 30mm thick plate requires 10Nm of energy per square
mm of sheared area. It punches one hole in every 10 seconds. Determine the power required for

the motor. / 30 fif} #idt We # 40 it oo &1 ¢ FA aTell T AAA o1 ufud &9 & ufa o°f it A 10
TAEA oIt B AR gidl 8| I8 TP 10 GHhS H TP D¢ J4dT g1 HieX & foIw mawges Sell udr S|

e 37.7 kW / 30,V f&drare
e 40.7 kW / ¥o.\0 fhaare
e 30.7 kW / 30,0 falare
e 25.7 kW / 4.1 feiiare

Correct Answer :-37.7 kW / 3.\ fedare

45)

Question Stimulus :-



Mechanical

In vapour absorption refrigeration systems, which of the following fluids are commonly used? /

qTw JqNYor y=ita= yonferal #, i & 9 foq sl &1 v ra: fosan smar g2
e air and water / dIg 3R o
e sulphur dioxide and water / Jeb S'I'q\’rﬁ%l'\‘lﬁg 3R ST
« ammonia and water / 3T 3R oI@
. freon and water / Ta19 3R &
Correct Answer :-ammonia and water / T 3R wa

46)
Question Stimulus :-
Mechanical

What should be the size of weld in case of butt welded joint? / 9¢ 3aTs Sig @1 fRIfY A a1 &1 PR

T BT I1fge?
e Twice the throat of weld / & ®1 We T SHAT
« Half of the throat of weld / SITd ®1 W BT M

« Equal to the throat of weld / SITd & W & SRIET
« None of the above / IURIad Bl gl

Correct Answer :-Equal to the throat of weld / 9Td Pl W & WER



47)
Question Stimulus :-
Mechanical

Determine the value of absolute:’#\:essure if the gauge pressure is 21 bar and atmospheric pressure
is 1.013 bar. / If¢ A9 g9 21 IR S/ 1.013 9R 8 df FRU& g &1 °F yd1 Siford|

e 21 bar /TR

e 22.013 bar / R.0oBV IR

e 20 bar / R0 dRR

e None of the above / B‘@ﬂﬁﬁ'\ﬁ?ﬁﬁqﬁ
Correct Answer :-22.013 bar / R.03 dR

48)
Question Stimulus :-
Mechanical

A ball dropped from the top of a tower takes 10 seconds to reach the ground. At what velocity it
will strike the ground? (Assume value of g=9.81m/s2) / T& ¢ & HIFR (laR) & FW I RS 5T d&
M H 10 S &1 IHY TCT g1 98 frg 7fa | o9 ¥ epwifi? (g=9.81 m/s2 &7 HIF HIfAW)

e 9.81 m/s / .¢2 Hi/.
e 981 m/s / ¢Q Hi/9.
e 0.981 m/s / o.Q¢2 Hi/4.



e 98.1 m/s / %¢.Q HI/H.
Correct Answer :-98.1 m/s / .2 'Fﬁ/ﬁ.
49)

Question Stimulus :-

Mechanical

If the temperature of intake air of I.C. engines is lowered, then its efficiency will / af¢ 3mg. . oM
D YR Pl a1 BT ATIHT HH g, df STB! &

increase / ¥t

decrease and then will remain constant / T 3R fRR 7

remain the same / JHM g

increase up to certain limit and then decrease / & fAf3a Wi a& I¢ift ek b g ft

Correct Answer :-increase / St

50)

Question Stimulus :-
CANCELLED
Mechanical

Water at 20°C is flowing through a 20 cm diameter pipe. The kinematic viscosity of water is 0.0101
stoke. If the Reynold’s number is 2320, at what velocity the water will be flowing through the pipe?
/ 20 f&i Q. 9% urit v 20 AW a9 & UIgy A &1 39T 21 Ul Bt Afds iy warEdar 0.0101 R%;%l gfe

=T 2320 8, af Ul f5 ufa F ursy | gie? I8m?

K



1.117 cm/s? / 2.9 IW/at @

11.17 cm/s?2 / 32.20 |/ 3.

2.152 cm/s2 / .2W JHI/a &

1.923 cm/s2 / 2.833 9HI/a A
Correct Answer :-1.117 cm/s2 / 2.220 9t/ A

51)
Question Stimulus :-

Mechanical

How much percentage of chromium is present in high speed steel which is specified by designation

18-4-1? / Ubd 18—4—1 gR1 fAfdy 3= nifd &t 33U (Fia) # fora ufawea wiftgw gidT 82
e 4/ %
e 18/ 2
«1/%
« None of the above / SR & A Bl gl
Correct Answer :-4 / ¥

52)
Question Stimulus :-

Mechanical



Which one of the following is a process under job evaluation? / 9 # & ST geuid &1 U& ufehar g2
« Job description / &1 fagzur

 Job analysis / P14 fazayor
 Job specification / 1 rfufa=am
« All of the above / IWRIed U
Correct Answer :-All of the above / IURIad I

53)
Question Stimulus :-

Mechanical
Compression ratio of I.C. engines is / 3. 4. SR &1 RS U voveeeeceeees g

* the ratio of volumes of air in cylinder before compression stroke and after

compression stroke / HUIsT °Td § Ugd 3R JUSH °UTd & 901G sy # a9 & 3madd &1
Srgurd

 volume displaced by piston per stroke and clearance volume in cylinder / PIGRIG)

foee g1 ufanfua smaae 3k Ridier &t frfw smaa=

« ratio of pressure after compression and before compression / ¥UIg9 & dI¢ 3R IAdEA
& UEA G BT U

e Ratio of cylinder volume to pressure / gId A fRds & 3mgad &1 S{JUTd

Correct Answer :-the ratio of volumes of air in cylinder before compression stroke and after



compression stroke / YIS UTd ¥ Ugd 3R UG °Td & q1¢ Rydsy # a1 & M- &1 3uTd

54)
Question Stimulus :-

Mechanical

Investment casting is also called as: / fraw a?n'é Ca g ao_e'?r %
« Lost wax casting / €I a9 SATS (PIE)
e Vacuum casting / ﬁaha?n'é
 Evaporative pattern casting / asfiIuig U gars
e Plaster mould casting / WX ?Iﬁﬁaﬂa?ni
Correct Answer :-Lost wax casting / diee E?IT§ (H’TI‘%'IT)

55)
Question Stimulus :-

Mechanical

In a shaper machine, the cutting operation is performed during: / T 3HAPHR AR H, Hled ST HTH
foa U1 & SR o wirar @

e Forward stroke of a tool / T$ IUBIUT BT T °Td
e Return stroke of a tool / Tdh JUDBIU BT ISR

e Both forward and return stroke of a tool / SUDBIU BT 3RYUT 3R ufam Eﬂﬂ’f YUTd



« None of the above / SWRIad # ¥ I 6l
Correct Answer :-Forward stroke of a tool / Tdh 3UDBIU Bl 3RIYUT °Td

56)
Question Stimulus :-
Mechanical

A manufacturer has three products A, B, and C. The profit gained by selling these products is ¥50,
¥25 and %60, respectively. What will be the objective function for the formulation of Linear
Programming Problem? / U fAHfar & urg 9 I@1E A, B, 3R C §1 39 IUIGI P SIH? fHa ardT A1 HHE:
50 ¥., 25 ¥. 3 60 . g1 YW HHICTM I & Ul & e d&a wa- a1 ghm?

e Maximize z= 50x1+25xX5+60x3 / z= 50x1+25X>+60x3 ® TXH AT dF FI5¢

Minimize z= 50x1+25x,+60x3 / z= 50x1+25x>+60x3 & TRY T db gy
Maximize z= 50x1+60x3 / z= 50x1+60x3 ﬁw@mww ¢

« None of the above / SWRIa # ¥ I gl

Correct Answer :-Maximize z= 50x;+25x,+60x3 / z= 50x;+25x5,+60x3 P T AT dF Fe15¢

57)
Question Stimulus :-
Mechanical

Power transmission between two perpendicular non-intersecting shafts can be achieved

using / & daad R-ATuY YH-33T F T Fo1f BT TAR cvveeercneennes BT YONT P BT o1 HPpaT 3|
e Spur gears / ¥R fIsR



« Helical gears / gfered RIsR

e herringbone gear / siE= fieR

« Bevel gearing / dtaa firsifem
Correct Answer :-Bevel gearing / dfaa firsif¥
58)
Question Stimulus :-

Mechanical

Which of the following condition is mandatory for a screw to become self-locking? / & U4 (¥q) &I
Aeh—dlP P31 & fou oI A fRUfY srazas 82

e Friction angle is equal to helix angle / T4U ST (IFaRE WTd) Fvsd HIUT (e TaA) &
SRR FaT 8

. Fricéi;)nn%angle is less than helix angle / ¥4 H1v1 (TFaR TIdT) HUsd HIUT (BfereT Trer) |
PH

e Friction angle is more than helix angle / 94U ST (fIFaRE WId) Fusa HIvT (BT Ta)
q S1GT a1 8

« None of the above / SURIGd Bl gl

Correct Answer :-Friction angle is more than helix angle / YT Hiv7 (fFeRM TTer) $vsa S (sfere
) T SgTeT BT @

59)

Question Stimulus :-



Mechanical

The shear force at the cross section of a beam is defined as: / T® fhY01 & U 3 W A=Y g6 DI
fa yer | wivurfa fean s :

e Algebraic sum of all the forces on either left or right sides of the section / 3/l ) EI'I§
1 375 3R W I Tl &1 S g

« Algebraic difference of all the forces on either sides of the section / 3 & f&dt Wt ok
R gt T &1 Jisig O

Algebraic sum of all the forces on both sides of the section / 3iXI & aHl 3R R IH §di BT Sl
g

« None of the above / SURIad Bl gl

Correct Answer :-Algebraic sum of all the forces on either left or right sides of the section / 31 )

9is g1 gis 3R W I gl &1 Sy T

60)
Question Stimulus :-

Mechanical

In ca%se of thin cylinders, the hoop stress is also called as: / Udd ey &t fRUfT |, ufveha ufdea #t w1
Vlldl &:

« Normal stress / 9= Ufdad
e Shear stress / 3U=YUl Ufdad



e Longitudinal stress / 3¢&d ufdaa

 Circumferential stress / #sd (uf¥dha) ufdaa
Correct Answer :-Circumferential stress / Hsd (i) ufdaa
61)

Question Stimulus :-

Mechanical

Diesel engines as compared to petrol engines, require / T®h ﬁ (?sﬁ'Fr) % Udh BRW @RWQ&I@ 3R
O} BR U 98 Tad g1 a1 39 T Fail:

« bigger flywheel / de®! §5 ®al (91H)
« additional flywheel / IR %3} (di7)
« same size flywheel / YolIa® Hs! (d1H)
 extra flywheel / 3ifav@ Fat (di7)
Correct Answer :-bigger flywheel / et §5 Hel (d1H)

62)
Question Stimulus :-
Mechanical

Due t% which property material can be drawn into wires: / g quT & HRUT fHedl a¥q P dRI | ST ST
Hbdl

e Ductility / dadIl



o Elasticity / UTRIdI

e Plasticity / ga&dIl

e Brittleness / HIRdl
Correct Answer :-Ductility / d=IdIl
63)
Question Stimulus :-

Mechanical

The v%acuum obtainable in a condenser is dependent upon / Th Tyt A 1Y oM gy fAafa g w Ak
CXGI

capacity of ejector / fFTsHTI® &t &HdT
quantity of steam to be handled / YU & i%nz UTY &1 HET

capacity of ejector or quantity of steam to be handled / SHIEH & AT fAew/a® $1 evan
T HTT DT /AT

 temperature of cooling water / URideq A &7 dI9HT
Correct Answer :-temperature of cooling water / URaa ST &7 dI9H=

64)
Question Stimulus :-
Mechanical

A certain process has Normal time of 40 min. If the allowances provided are 10%, then what will be



the standard time for the process? / T fAf3d ufshar A 40 ffFe &1 AW IHY 14T 81 i 10% @t ¢ &t
Srgufa B, df 39 uftrar A smexl wu ¥ fora-n awg @nm?

e 44 min / ¥¥ fiFe
e 40 min / ¥o e
e 50 min / 4o fiAe
e 45 min / ¥4 fiAe
Correct Answer :-44 min / ¥¥% e

65)

Question Stimulus :-
CANCELLED
Mechanical

The relation between the Poisson’s ratio (y), longitudinal strain (g ) and transverse strain (g,) is
correctly given by which of the following expressions? / " # & 19 1 TSR0 Uiz U (y),
WA FD1d (g1), R STUR FH1 (g,) F d1 & Y B 33T I8 A UG Hvar 32

Y=€./& / Y=¢_/ &

Y=€c/ €/ Y=¢5c/ &

Y=-€ /& / Y=-¢/ &

None of these / §9H ¥ ®I§ gl

Correct Answer:-y =-g /€. / Y=-¢_/ &



66)
Question Stimulus :-

The line which gives the sum of pressure head, datum head and kinetic head of a flowing fluid in a
pipe with respect to some reference line is called as: / f! 3rulq® yomedt & e ¥ e ursy # yarfed
%9 & ga1d MY, MurR e MW R e =it F71 7 A arelt gonelt i | Fed §:

e Hydraulic Gradient Line / STl SURTH YUTTeil

e Total Energy Line / U Sell goTrett

« Total friction line / §9Y TyuT JorTe!

« None of the above / SR & A Bl gl
Correct Answer :-Total Energy Line / JHY Soll YUTTert

67)
Question Stimulus :-
Mechanical

Which of the following is expected to have highest thermal conductivity? / o A ¥ fpge! arg e
T9q AP g P THTET 82

e Water / UHI

e Steam / HIU
e Solid ice / 3/ dF



e Melting ice / fUrged 96
Correct Answer :-Solid ice / 3 9%

68)
Question Stimulus :-
Mechanical

What is the effect of force applied on a rigid body? / T& FOR ad¥d UR 7Y T d¢f pT KT YHId T;ﬂ?IT %?
e acceleration / Ul
 retardation / TRy
« changing direction of motion / Tifd @1 fgzm # ufRkaa=
e all of the above / 30 & It
Correct Answer :-all of the above / 3w & 9

69)
Question Stimulus :-
An engine working between positive temperatures . [/ ADPRIHD ATYH & 9 BTH BT IGT
TP g l
« can be a heat pump / T& TH UH gl 9&dl g

« can be a heat pump only if frictionless machine is used / & TH TH g1 d&dr Rk daft
gfe gduRfga A== &1 ya fear se|



« must be a heat pump / T& TH UH g1 91i3¢
« cannot be a heat pump / T& TH T/ T¢I § IPdT gl

Correct Answer :-can be a heat pump / T® T gy gl gPpdl %

70)
Question Stimulus :-
Mechanical
Which one of the following is law of perfect gases? / g & Q ar sexf A @1 oS a2
Boyle’s law / 919d &1 [HaH
e Gay-Lussac’s law / T-@HT1® &1 faw
e Charles’s law / 9T &1 fam
All of the above / IWRIdd Heif

All of the above / IWRIad gHiCorrect Answer :-

71)
Question Stimulus :-
Mechanical

A casting of size 100cm*100cm*25cm was filled by top gate with manometric height in pouring
basin to be 25 cm. if area of gate is 5 cm2, determine time required to fill the casting. / 100

I+ 100 T+ 25 I THR & TH aid Bi zsﬁtﬁaﬁmmﬁﬁﬁﬁﬁmm eIY e F WRT 411 i e



BT &F%d 5 I It §, df eid B WA | fova=1 g9g ahm|
e 255.7 sec / 344.0 d
« 225.7 sec / Q4.9 q.
« 135.7 sec / 334 9.
« 285.7 sec / ¢4K.0 ¥
Correct Answer :-225.7 sec / 334. 9.

72)
Question Stimulus :-

Mechanical

In case of a planer: / T W-R & fRUf #:
« Work is stationary and tool reciprocates / HTH 3Ufdfdd g 3k SUHVI () TGl &
e Work reciprocates and tool is stationary / &TH dgddl % 3R IYBUT (gel) 3afyafda %
e Work and tool both reciprocate / ®H 3R IYHIUT (gel) I ggad %
« None of the above / SURIad Bl gl
Correct Answer :-Work reciprocates and tool is stationary / ®TH dgddl 2 3R SuH I (gel) 3qfyafdd 8

73)

Question Stimulus :-



Mechanical

Which one of the following is used in the Value Analysis of any product? / g d 9 w1 ol Saue &
qed fa=awor § wanT fear sirar g2

e FAST
« CPM
« PERT

e MOST

Correct Answer :-FAST

74)
Question Stimulus :-

Mechanical

What is included in the Work study? / &4 309 § &1 A giaT 82
« Only method study / R fafdr sreoa=
e Only work measurement / Rk &rt A=
« Method study and work measurement / faf¥f 3regg= 3R &t A1UA
e Only micro-motion study / Rk '\‘]\&H-Wﬁf g
Correct Answer :-Method study and work measurement / fafdr sremg= ok & \wrg=

75)



Question Stimulus :-

Mechanical

After expansion from a gas turbine, the hot exhaust gases are used to heat the compressed air from
a compressor with the help of a cross flow compact heat exchanger of 0.8 effectiveness. What is
the number of transfer units of the heat exchanger? / e Eiﬁ%_rl q TR & dlq, T T T &1 99T 0.8

T & U UaT8 wifed W1 URaa® & Jerdl | Ue duls® | Hiifsd arg &1 7 e & forg fasan sirar 71
ST URTd® B ARV SHISAT BT TS T §?

*1/2%

c4/%

e 8/ ¢

* 16 / %%

Correct Answer :-4 / ¥

76)
Question Stimulus :-
Mechanical

At lower temperatures and pressures, the latent heat of vaporisation of a refrigerant / g arguaE

3R 3919 R, TP WRiids (¥peric) & arufievor &1 Tw SHe1-
« decreases drastically / 98¢ f'R &1t @
e increases / Sl @
e Unchanged / 3maf¥afdd



- depends on other factors / 30 HR®I W AU Hl &

Correct Answer :-increases / ?ﬁ?ﬁ%
77)
Question Stimulus :-

Mechanical

. Case hardening process is: / 3Td3U[ Eﬁmm%

e Carburising / Wﬁﬂ%ﬁm

e Nitriding / TSersfET

« Cyaniding / JrGATSST

e All of the above / SWiad I

Correct Answer :-All of the above / SWiad gt

78)
Question Stimulus :-
Mechanical

Vioolent sqund pulsations within.the cylinder of an I.C. engine are caused due to / GIT§ &t. oM &
Rrder & sigr | 3 aTel 39 @i Wed 9 & SR gar 8

e heavy turbulence and vibration/ YR eddd 3R B
 improved scavenging / 9gd3 HHISIH (JWTS)



« heavy supercharging / 4RI sifasmafR
« detonation / fa@pic

Correct Answer :-detonation / fJd@pic

79)

Question Stimulus :-

Mechanical

In a plane stress condition, which of the following statements is true? / 9Uic ufdea &t R ff, fad
q P AT FUYT T 82

A. One of the principal strains is equal to zero / Y4 ﬁ?ﬁl’fﬁ R RIGA & TR gl 8
B. One of the principal stresses is equal to zero / Y4 yfdaal 4 d TP I & SRIER gl

« statement A alone is true / RTh Y7 A Ot 2
« statement B alone is true / 16 oY B IEI &
« Both the statements A and B are true / A 3R B 3l &Y9 Ig! &
e none of these / sﬂ'ﬁ'\ﬁﬂ'ﬁi el
Correct Answer :-statement B alone is true / Rk #y=1 B el %

80)
Question Stimulus :-

Mechanical



A thin flat plate 2m x 2m is hanging freely in air. The temperature of the surroundings is 25°C.
Solar radiation is falling on one side of the plate at the rate of 500 W/m?2. What should be the

convective heat transfer coefficient in W/m2°C, if the temperature of the plate is to remain
constantat30°c7/wmmlﬁzzrﬁx21ﬂ3a1ﬁ U § dcH] g1 3P AU &7 arad= 25 334 9.
21 500 dre/ aif 4, aﬁaﬁ@zaﬁwmﬁvﬁ%{wﬁvwél are/ait Wiy {530 9. & Jag-it a1 JaRr quiie
w1 T 91, afe wie &1 arquE 30 330 4. W RR 3@ a2

.« 25 /34
e 50/ Yo
e 100 / %00
e 250 / RY\o
Correct Answer :-100 / %00

81)
Question Stimulus :-

Mechanical

In a typical casting, sprue is the passage used for: / T®h Gﬂﬂ'ﬁf%?ﬂ% 'l?f, Tugolt a8 It % foraeT vanT g
& fere fopar <imar @:

« excess material outflow / AT AR &1 afgvfarg
« molten material inflow / fUgelt Irf &1 3idafs

e removal of air bubbles / angag?ﬁaﬁ BCI-l

e none of these / ﬁﬁﬁﬁ'{ S



Correct Answer :-molten material inflow / fUgell Il &1 3idals

82)
Question Stimulus :-
Mechanical

In Iron Carbon equilibrium diagram, the X axis is represented by: / Fﬁ's’ BT H'QEF-T ARG ﬁ, X 3M&f B
g gr1 welRia fear wiran 8:

« Carbon percentage / ®Ta< Ufazra

e Temperature / dIUHH

 Nickel percentage / F&d &1 yfaw«

« None of the above / SWRIad & ¥ Bl T8l
Correct Answer :-Carbon percentage / PTa- ufa=rd

83)
Question Stimulus :-
Mechanical

The ratio of the stroke to the crank radius in an I.C. engine is given as: / T® 3iTs.91. oM # eRTa A=
# 919 T U 3:

e 1:1/ 2:%
o 2:1 /%
o 1:2 / AR



o 3:2 / 3INR
Correct Answer :-2:1 / R:2
84)
Question Stimulus :-

Mechanical
In case of spur gears, the portion of path of contact from the pitch point to the end of the -
engagement of a pair of teeth is called as: / YoRIY R @1 RUfq &, g fadg I gial & o ois & MEU &
3T 9% Rl UY HT g YN HeArdT o

 Arc of recess / Ufd¥RUI TTq

Arc of contact / WY ATw
 Arc of approach / 3URTH dIU
« Arc of departure / fFHA 91U

Correct Answer :-Arc of recess / UfdIRUI 91
85)
Question Stimulus :-

Mechanical

Which one of the following technique is used in TQM? / o 9 9 foa aw-ie &1 v QM H forar wirar 82
« PDCA

e JIT



« SQC
« All of the above / IWRIad i

Correct Answer :-All of the above / IURIad

86)
Question Stimulus :-
Mechanical

The operation of enlarging the hole already made in the work piece is called as: / ghNg H Uga A 9
DG Bl ST FI & HTH B T Had o

e Boring / GIEL]

e Knurling / fef

e Undercutting / 3iS¥&feT
e Chamfering / SHBIAT

Correct Answer :-Boring / e

87)
Question Stimulus :-
Mechanical

The material commonly used for air craft gas turbine is:- / fdAF & 1 cafzga & IHT R W) TR fhe
ST aret ARt 8:

« High alloy steel / & YTq §¥UTd (L1aT)



e Duralumin / SR

e Zinc / st (i)

e Titanium / E‘Eé‘ﬁ'q'q
Correct Answer :-Titanium / gcHaH
88)

Question Stimulus :-

Mechanical

Moisture would find its way into insulation by vapour pressure unless it is prevented by:- / 4} areg

& GEId GRI AU 9P 11 DT IRAT @il Mt o9 a9 & I8 7 gR1 A1 7 o -
e A vapour seal / arsq Hid
* Less thermal conductivity insulator / &¥H <Y dTcih dl drell AU®d
e High thickness of insulation / SUIql 'FﬁE'F.{' CaIbE
e High vapour pressure / 3 dIYJ qdId
Correct Answer :-A vapour seal / diq Igia

89)
Question Stimulus :-

Mechanical

Determine COP of a refrigeration system if its condenser rejects heat at the rate of 100 kW and
compressor consumes a power of 50kW. / U=iida+ gumelt (IpoR=M Rivew) &1 dreidt uar #ifvre afe saeT



Huf= 100 fHal a1 B @R R FHT Bisdl ¢ R Jfs® 50 fant are St Suf BT ITUIT Fa g
2/R
3/3%
4 /%

0.5 / o.4
Correct Answer :-2 /R

90)
Question Stimulus :-

Mechanical

Atmospheric pressure is 1.03 %/cmz and vapour pressure is 0.03 kg/cm2 So, the air pressure will

be / aIgHSH 1 1.03 fHur/aw H. 3R aTwr g9 0.03 fHum/at #t. 31 o 9 319 g
« 1.03 kg/cm?2 / 2.03 fFur/arf #t.
« 1.06 kg/cm? / 2.0% fHur/at .
e 1 kg/cm?2 / 2 fun/af .
e 0.53 kg/cm?2 / o.u43 fHur/af M.
Correct Answer :-1 kg/cm?2 / 2 f&ur/at .

91)



Question Stimulus :-
Mechanical

A vertically upward force of 100N is acting at point P in the x-y plane. The coordinates of point P
are (5,0) in meters. The moment of the force about origin will be: M can be transferred to Set 3 /
100 T F] TP d9ad 3MRIEt 9d x-y quTe # fig P R & &< ¥eT 2| fag P & fame diex o (5,0) &1 Ry d 5@
T YUl gNM: | Ae 3 § WIHIARG [HaT o Thdl §

¢ 100 N-m clockwise / %00 TH-TH &f&umad

20 N-m anticlockwise / R0 U4-UH qrTEd
500 N-m clockwise / 4oo TA-TH Gféfumed

e 500 N-m anticlockwise / 4o TH-UH drHTdd

Correct Answer :-500 N-m anticlockwise / Koo Tq-UH CIL GG

92)
Question Stimulus :-

Mechanical

A certain liquid has 5 tonnes mass and occupies 10m3 volume. What is the mass density of liquid in
kg/m?3? T FRuffta ga &1 goqwrE 5 9 8 3R 3maad 10 g9 Hiex 81 fFun/ vt M. # go0 &1 gouw= g+ =1 82

+ 500 / Yoo
e 50/ Lo
e 0.5/ 0.4

5000 / YKooo



Correct Answer :-500 / Yoo

93)
Question Stimulus :-

Mechanical

Which one of the following flow measurement device is independent of density? / Fad S =
WdTe HIUH I g-d | o 82

« Electromagnetic flow meter / fagad daoig yarg dex
« Orifice plate / 3P wWe
e Turbine meter / Taigd Hiex

e Venturi meter / a9t Hiex
Correct Answer :-Electromagnetic flow meter / fdgaa ga@ i yarg Hiex
94)

Question Stimulus :-

Mechanical

When all the bonds in an organic compound are single, it is said to be:- / T& Hdfa® Giflie # o9 I
§Y UHd g, df Iq BT &1aT 2

e Saturated / ddqul
e Cross linked / 39X A4

e Polymerized / ag?rm



« Covalent bonding / 9gSdlSlt ¢ (Plddic d7s)
Correct Answer :-Saturated / Iqu

95)

Question Stimulus :-
CANCELLED
Mechanical

Which of the following is the correct definition of modulus of resilience of a material? / T® JrEh

& UATRICT BI ATgad I Tt ufeHTeT 7 & 3 @ 82

Strain energy / ﬁ?ﬁfﬁf
Strain energy per unit mass / Ufd 3®18 YR W faefa Soi
Strain energy per unit volume / Ufd 318 3maad W fawfd et

None of these / 99 ¥ ®Ig gl

Correct Answer :-Strain energy per unit volume / Ufd 3&15 3maas R fapfa St

96)
Question Stimulus :-
Mechanical

What is the method of joining two similar or dissimilar metals using a special fusible alloy? / T®

fa=iy Sreta fafda arg (Tara) &1 TR SF & GHH a1 SRIAH UTgsii &1 siis+ @1 faf¥r & w1 ®gd 82



e Brazing / 3dIY Tl T
 Soldering / T®TS

e Arc welding / a@mm
e None of these / sﬂ'ﬁﬁﬁiﬂﬁ

Correct Answer :-Brazing / 3=IdIY &l T

97)
Question Stimulus :-
Mechanical

In foundries, a square pan fitted with a wooden handle is called as: / E?ITQ-‘ER 'l?f, ?Iﬂo_eﬁ & Th UK \‘{1%
TP PR dd P Hed &

« Bellow / S@t
e Slick / &
e Shovel / &SI
e Riddle / ¥sd
Correct Answer :-Shovel / GG

98)
Question Stimulus :-

Mechanical



Which %)f the following is an absorption type of dynamometer? / {79 # ¥ t& STOAHIHIEI &1 TF UHR H1
14 82

e Prony brake / Ui 9
e Rope brake / AT 9P
e Epicyclic train / terfﬁra‘—r
« Both A and B / A 3R B gl
Correct Answer :-Both Aand B/ A 3R B EﬁT-ﬁ

99)
Question Stimulus :-
CANCELLED

Mechanical

Case hardening process is: / meﬁwmﬁaﬁm%
e Carburizing / EFFg‘TI%ﬁFT
e Nitriding / ATSersfeT
e Cyaniding / HIg-TgfS
e All of the above / SWRIeT G

Correct Answer :-All of the above / IURIad I

100)



Question Stimulus :-
Mechanical

Which of the following type of shafts can be connected using Oldham’s coupling? / 3NeSeH & Yaolh
BT TN P fhd UPR & RI-dsl P SIST o bl 32

« Parallel shafts / JHR YH-¢8

e Mutually perpendicular shafts / TRER® ddad §1-¢s

e Collinear shafts / It Yi-ds

« Shafts rotating in opposite directions / faadiq fe=m & gud ¢&-ds

Correct Answer :-Parallel shafts / HHI=R ﬂﬁ-d‘&'



